CePs = 2017

JA AL

l.HoZ%tice A
ZoHlubodany B
JJiEméany A

4 oHostérddky A
5.Rousinovec A
6.0tnice B

20kolo =

Budovice B
Hlubolany C
Hodéjice A
OlSany A
Hrusky A
Drnovice B

84047 ~N

7.Butovice B
B.Hrusky A
9,01l8any A
10.Hodéjice A
11.,Hlubocany C
12,HoStice A

Drnovice B
Otnice B
Rousinovec A
Hostérddky A
Némgany A
Hlubolany B

3.kolo = Ak AGAF - &

13.Hlubodany B
14 Jiéméany A
15.Fostérddky A
16.Rousinovec A
17.0tnice B
18,Drnovice B

4e¥0l0o =

Bulovice B
Hodtice A
Hlubolany C
Hod&€jice A
Ol%any A
Hrusky A

20.40.4F - N

19,Bufovice B
20.Cl8any A
21.Hodéjice A
22,H1lubodany C
23,Ho8tice A
24 JTéméany A

5ek0l0 =

HrusSky A
Drnovice B
Otnice B
Rousinovec A
Hostéridky A
Hlubolany B

2B.40.1%- 8

25, Méméany A
26,Hostéradky A

-

Buc¢ovice B
Hlubolany B

27.Rousinovec A - Hoftice A
28,Hlubocany C - Ctnice B
20,Drnovice B - Hod&jice A
3C.Hrusky A - ClSany A
Gokolo = b.A4.4F - N
31eBucovice B = OlSany A

32.Hrusky A
33.Hlubolany C
34 Hostice A
35.Rousinovec A
36.l¢m8any A

Hod&jice A
Drnovice B
Otnice B
Hlubodany B
Hostérddky A

Tokolo = AA-l.47- &

7.,Hostéréddky A - Bucovice B

38.Rousinovec A
39.0tnice B
40,Drnovice B
41.Hlubodany C
42,018any A

Néméany A
Hlubolany B
HoStice A
Hrusky A
Hodé&jice A

8.kolo - +49. 11.41% - N
43,Buovice B = Hodé&jice A
44,Hlubodany C = QlSany A
45,Ho8tice A - Hrusky A
46.Drnovice B = Hlubolzny B
47.Néméany A - Otnice B

48,Hostérddky A

Rousinovec A

9:.kolo = 25:.41.4% -

49,Rousinovec A
50.0tnice B
51.,Drnovice B
52 Hrudky A
53.013any A

54 ,Hlubocany C

Bulovice B
Hostérédky A
Néméany A
Hlubolany B
HoStice A
Hodéjice A

10.k01l0 = 3.942.-/F - N

55.Bucovice B
56.Ho3tice A
5T7.Hlubolany B
58.Néméany A
59.,Hostéradky A
60.Rousinovec A

1l.kolc =

Hlubolany C
Hodé jice A
0lSany A
Hrusky A
Drnovice B
Otnice B

9.12.4%~ 8

61l.0tnice B
62,Drnovice B
63.Hrusky A
64 ,01l8any A
65.Hodéjice A
66,Hlubodany C

Bucovice B
Rousginovec A
Hostérddky A
Némbany A
Hlubolany B
HoStice A
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12,k0lo - 5. 42 — 8

£7.Bucovice B
68.Hlubolany C
69.Hodijice A
T0.0l8any A
71l.Hrusky A
T2.Drnovice B

-~ HoStice A

- Hlubolany B
- Néméany A

- Hostérddky A
- Rousinovec A
- Otnice B

13.ko0lo = 2. ~[.<(€ — 1V

72.Drnovide B
T4 .Otnice B

- Budovice B
- Hrudky A

T75.Rousinovec A = OlSany A
76.Hostirddky A = Hod&jice A

T7.éméany A

78,11lubeclany B

- Hlubolany C
- Hoftice A

14 kolo = i?.'].‘f? - £

79.Budovice B
S0.Hostice A
&l.,Hlubocany C
82,Hodé jice A
83,018any A

24 ,Hrudky A

1501(010 -

= Hlubodany B
- Némany A

- Hostérddky A
- Rousinovec A
- Otnice B

- Drnovice B

Lo 4P — N

85.0rusky A

86,Drnovice B
87.0tnice B

- Bulovice B
- Olsany A
- Hodéjice A

28,Rouginovec A = Hlubolany C
89,Hostérddky A - HoStice A

20,Hlubodany B

- Némcany A

16.k0lo - 40. 242 — S

91.Rudovice B
92 ,Hlubodany B
93,Hostice A
G4 ,0tnice B
95,Hodéjice A
96,018any A

- Néméany A

- Hostérddky A
- Rousinovec A
« Hlubolany C
- Drnovice B

- Hrusky A

17.kolo = {&.d AP —N

97,018any A
98.HodE jice A

99,Drnovice B
100.0%tnice B
101l.Hlubodany B

102 ., Hostéradky A

- Bulcvice B
- Hrusky A

- Hlubodany C
- HoStice A

- Rousinovec A
- Némany A

18.kolo ~ J4.3-¢ — ¢

103.Budovice B
104 Jiéméany A
105.Hlubodany B
106 ,HoStice A
107.Hrudky A
108,Hodé jice A

19.kolo =

- Ctnice B
- Drnovice B
- HluboZany C
- Olfany A

hy. 10 - N

109.Hodéjice A
110.013any A
111,.Hrusky A
112,Hlubodany B
113.0tnice B

114 ,Rousinovec A
20.kolo =

- Bucdovice B
- Hlubolany C
- HoS&tice A

- Drnovice B

- Némany A

- Hostérddky A

0. % 4d ~ £

115,Budovice B

116,Hostérddky A

117.Némdany A
118.Hlubolany B
119.HoStice A
120,Hodéjice A

21l.k0l0 =

= Rousinovec A
- Otnice B

- Drnovice B

- Hrusky A

- OlSany A

- Hlubolany C

18.3 48 -N

121,Hlubolany C
122 ,Hod8jice A
123,018any A
124 Hrusky A
125.,Drnovice B
126,0tnice B

22,kolo =

- Budovice B

- Hostice A

- Hlubolany B

-~ Némdany A

- Hostéridky A
- Rousinovec A

2hn. 47 - S

127.Bucovice B

128,.Rousinovec A
129,Hostéradky A

130.Néméany A
131.Hlubodany B
132, HoStice A

~ Otpice B

= Drnovice B

- Hrusky 4

- QlSany A

- Hoddjice A

-~ Hlubolany C



